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(

Nlustrate the answers wherever necessary.
Bio Diversity (Microbes, Algae, Fungi and Archegoniate

! -.. ) Answer any five questions : 5x2

(a) What do you mean by Nannandrous species ?

(b) Name two asexual methods of reproduction found in
bacteria,

{c) What is VAM ?

{Turn Over)




(d) Differentiate between eusporangiate and 3. Answer any one question : 1% 10

leptosporangiate sporangia. o1 v o s B et

(¢) Mention the living characters of Virus. pteridophytes.
() What is the difference between isogamy and oommn.:i ( (b) Describe the structure of sexorgans of Marchantia.
Draw the pattern of life cycle with the help of a flow
() Write any two general characters of the class chart. 6+4
Bryopsida.

(h) What is polyembroyony ?

2. Write short notes on (any four) : 4x5
. ! %
(a) Economic importance of bryophytes.
(b) Lysogenic cycle. . S| AT <l 2ram Swa e | axd
2@ wone & ?
(¢) Xerophytic adaptations of Cycas. : , (¥) TREGH @
i ﬁ

3 siwfen Sred w4
(d) Morphoanatomical structure of capsule of Funaria. () Tt 2 srfves

(e) Teleutospore and basidiospore of Puccinia. (") VAM f& ¢
() Structure and function of heterocystes in blue-green R e e T ——
algae. ' - AT T strees Sere
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Problem Solving Using Computers
Section—J
Answer any five questions. 5x2

1. What do you understand by real & virtual memory ?
2. What do you mean by the term ‘Debugging’ ?
3. Mention the basic types of errors that you may

encountered in programming.

4. Mention some of the features of Python,
5. Is Python a case sensitive language ?



N

v

6. What is the output of print str + “TEST* where str = *“Hello
World I" ?

7. What are the admtlg&,dthel’ythondicﬁonarytype?
8. What is the use of raise statement ? Mention its Syntax.

Section—IT
Answer any four questions. 4x5

9. What are the essential components of a computer ?
Discuss the function of each component.

10. How is multithreading achieved in Python ?
11. Explain what “Flark” is and its benefites.
12. Explain Random Module and its function in Python.
13. How inheritance is performed in Python ? Give example.
14. What are negative indexes and why are they used?
Séction—m
Answer any one question. 1.

15. Explain with an example exceptions with arguments in
Python.

16. Explain with an example while loop, break statement and
continue statement in Python.

- C/18/BSc/1st Sem/COSG/DSC-1AT TB—850
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Financial Accounting

( u.géhia:o&oa-" 2x5

(a) What is Accounting Standard ?

(b) What is the need of [FRS ?

(c) Distinguish between Entry and Posting.




4

(b) A, B and C were partnership sharing profits or losses
in the ratio of 3:2:1. The partnership was dissolved
when the Firm's Balance sheet stood as follows :

Liabilities Rs. Assets Rs.
Capital A/c's Land & Buildings 40,000
A 1,80,000 Plant & Machinery _.mo.oo%
B 50,000 Stock in Trade 28,000
SundryQreditrs 91,000  Sundry Debtors 78,000

Cash & Bank 9,000
C’s Capital A/c (Dr.) 16,000
3,21,000 3,21,000

The Assets realised : Land & Building Rs. 53,000,
Plant & Machinery Rs, 1,24,000, Stock Rs, 17,000,
Sundry Debtors Rs. 58,000, Expenses on realisation
Rs. 1000.

Prepare Realisation A/c, Partners’ Capital A/c and
Bank A/c.
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damaged due to bad handling and Insurance claim of,

Rs. 7000 was accepted. Consignee took delivery of the
rest and incurred direct expenses of Rs. 2850 and
indirect expenses of Rs. 1500, He sold 80 cycles at Rs,

2000 per cycle,
Consignment A/c HFS 37 qun BTEI - 2 v i g
ST 5% wfirr o

C/18/BCom/ 15t Sem/COMG/CI1T v (Continued)

- Liabilities Rs. Assets Rs.
(  Capital A/ Land & Buildings 40,000
= A 1,80,000 Plant & ZmnE:aQ 1,50,000

B 50,000 Stock in Trade 28,000
Sundry Creditors 91,000 Sundry Debtors 78,000
Cash & Bank 9,000

C's Capital A/c (Dr.) 16,000

a 321,000 3,21,000

The Assets realised : Langd & Building Rs. 53,000,
Plant & Machinery Rs, 1,24,000, stock Rs, 17,000,
Sundry Debtors Rs. 58,000, Expenses on realisation
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Introductory Microeconomics

1. Answer any ten questions : 10x2
(a) What is positive economics ?

(b) What are the besic questions, which economics try
to solve?

(c) Write two processes of price control,

(d) Write two factors which shift the market demand
curve upwards.

(¢) What is consumer surplus?

() What is cross price elasticity of demand ?

(8) Write two conditions of profit maximisation of a firm.
(h) What is marginal revenue product ?

(Turn Quer)
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(if Write two features of perfectly competitive market, *

(i) In which region of the demand curve, the monopolist
will try to produce ?

(k) Write two features of indifference curves.
() What is the law of variable proportions ?
(m) What is opportunity cost?

(n) Define the modern theory of rent.

(o) What is elasticity of supply ?

. Answer any four questions : 4x5

(a) Define and explain the rationing process.

(b) How is the supply curve derived for a perfect
competitive firm ?

(c) How does the consumer attain equilibrium ? Explain
through the indifference curve and budget constraint.

(d) Explain the cause behind the backward bending

labour supply curve.
(e) Discuss the exceptions of Law of Demand.

() How do the average fixed cost and average variable
cost curves look like? Explain with diagrammatic
representation. ,

Answer any two questions ; . 2x10

(a) Discuss how a firm in a perfectly competitive market
reaches equilibrium in the short run.

(b) What is derived demand? Explain the marginal
productivity theory of distribution. 2+8

. (Continued)
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(c) What is price elasticity of demand? Discuss the

determinants of price elasticity of demand. 4+6
(d) Explain when price discrimination is possible and
profitable. 4+6
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23. Explain with examples the concepts of fixed cost and
variable cost. Explain the shape of long run average cost
curve, 4+6

24. What is economic rent ? Explain how the element of rent
exists in earnings of every factors of production, wA

25. What is price elasticity of demand ?’ Show how price

elasticity of demand is measured along a negatively
sloped linear demand line. . 3+7
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Elements of Modern Physics

Group—A

Answer any five questions : S5x2

1. What is Compton Effect ? Explain why Compton effect is
not observed for visible light rays ?

{Turn Over).
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3. Answer any fwo questions : 2x10

(a) What is budget line ? Show the position of consumer's
equilibrium with the help of indifference curves and
a budget line. State the necessary and sufficient
conditions of this equilibrium, 2+6+2(

(b) Define an isoquant. What is an iso-cost line ? How will
a firm determine its optimal combination of resources
in order to produce a given level of output ?

, 242+6

(c) Discuss the short run equilibrium of a monopolist
firm. Can a monopolist be in equilibrium if its MC is
falling ? 7+3

(d) What is oligopoly ? How will you explain price rigidity
under oligopoly market with the help of kinked
demand curve theory? 2+8

— (
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Group—C
Answer any two questions : 2x10

22. 'How would you explain Herodotus's originality as a

(

23. Make a comparative study of Herodotus and Thucydidis
as Greek historians with distinct historical method and

approach,

historian ?

24. Write an essay on the gense of moral historiography in
ancient Rome,

25. How does Roman historiography differ from Greek
historiography ? Comment on the use of dramatic
elements by Roman historians.
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Group—C
TN
Answer any two questions : 2x10
' fem-=»
22. Discuss the three major historiographical interpretation
of ancient Indian history. ( ( QI TCH 78 eiram Seavie | soxy

23. Discus the chief characteristics of the Harappan cuiture,

specially mentioning the town planning. 31 e Fwe' wee oft # carcany

24. Review the imperial policy of Samudragupta. How did his oy mmggmanﬁséaﬁﬂ@ia_

Northen conquests differ from the southern. 14+6

o1 [ rerem Ficewm tafiiRaf & 9o

28. Discuss the reign of Harshavardhana specially
mentioning his benevolent activities ? 81 @ 7o $i g
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Elementary Knowledge of Music
Terminologies and concept

1. Answer any ten questions : 10x2
(a) What is music ?
~ (b) How many saptaks are there ?
(c) What is meant by Varna'?
(d) What do you understand by ‘alankar'?

(e} What do you mean by ‘Saptak'?

(Turn Over)
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() Which swars are called ‘Achal swara’?
(g) What is a Thata’?
(h) How many shrutis are there in a Saptak ?
(if How many music systems E.o there In India ?
(il Mention the Komal swars.
(k) Why a swara is call~. [ibra Swara? Give exampl.
(] How many Thats’ are there in Hindustani Music ?
(m) Which swara is called ‘Badi Swara'?
(n) What do you mean by ‘Suddha Swara’?
(o) What is known by the term ‘Murchana’?
2. Answer any four questions : 4x5
(a) Explain musical and non-musical sound.
(b) What is ‘nada’'? What are the charactiristics of it ?

(c) What do you mean by ‘Shruti’ ? Mention the number
of Shrutis of individual Swaras.

(d) Give an idea about Samabadi, Vivadi, Anubadi
Swaras,

() What is meant by ‘Bandish’? Explain with SBL«.
() Explain the terms—gayaki and nayaki.

3. Answer any two questions : 2x10
(a) Define 'raga’. Discuss about the features of ‘raga’.
(b) Make a distinction between Thata and Mela system.

C/18/BA/ st Sem/MUCH/CIT (Continued)

()

(d)

(e)

Mention the contribution of Venkatmukhi in Indian
Music.

Mention the contribution of V. N. Bhatkhande in
Indian Music. ,

Write about the necessity of Raga and Thata in North
Indian music.
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NUTRITION
PAPER—DSC-1AT
(General)
Full Marks : 40
Time : 2 Hours
The figures in the right-hand margin indicate full marks.

Candidates are required to give their answers in their
own words as far as practicable,

Ilustrate the answers wherever necessary.
Nutritional Aspects of Food g_

1. Answer five questions : 5x2
(a) What is balanced diet ?
(b) Define food pyramid.
(c) What is SDA ?
(d) Write the importance of curd in our daily diet.
(e} Write the name of two sulphur containing vegetables.

() Define KCal.
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() What are the disadvantages of microwave cooking ?

(h) Write the advantages of germination of pulses.

Answer four questions : 4x5

(a) Discuss about ICMR four food groups. What is ZOA‘
nutrient part of a food ? 4+1

(b) Discuss the Nutritive value of rice products. 5

(c) Describe the pasteurization of milk. Write the
“ importance of paneer. 3+2
({d) Write the difference between egg white and egg yolk.

Mention the Nutritive value of white meat. 3+2

(e) What are the changes occur during ripening of
fruits ? Write the importance of coconut in cookery.
342

() Write the importance of fruits and vegetables in oy

daily diet. 5

Answer one question : 1x10

(a) Describe the classification of cooking method with

advantages and disadvantages. 10

(Continued)
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(b) Describe about non fermented milk products and

write it, importance in our diet. 10
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Candidates are required to give their anstvers in their
own words as far as practicabl €.

lllustrate the answers wherever nece Ssary.

Mechanics

Group—A

1. Answer any five questions : 5x2

(a) For what value of «, vectors A- ui-2j+k and

B =2ai - aj - 4k are mutually perpemdicular to each

other. 2
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Group—C

Answer any two questions : 2x10

Indian Constitution.

24. Explain the recent trends of the Indian Federal system.

25. Discuss the powers and functions of the Supreme Court
of India,
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